NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 23 Homework

Name Date

a. Sort the following expressions by rewriting them in the table.

The product is less than the The product is greater than the
boxed number: boxed number:

[§23]x 0.92| 12.5]x 1.989

[0.05]xo. | 000 % .02
[216] % L]]

22146 1% .20

12.5 | x1.989 828 | x0.921 321.46|x 1.26

0.007 | x 1.02 x 1.11 0.05(x 0.1

b. What do the expressions in each column have in common?

Boxes th Hhe Mless taan "' column are mulhplied by a numbor loss Han L.
Boxes 1h the 3real-er Han"' column are mulhiplied by o number tjread'er Han L.

2. Write a statement using one of the following phrases to compare the value of the expressions.
Then explain how you know.

is slightly more than is a lot more than is slightly less than is a lot less than

a. 14x0.999 if 5'“5‘\,'4'"'\’[ [PSS ‘u’\av\ 1 wause 0.999 it s\i%\/\H\, less Hun 1

o 101x206 1S Sli%‘r\u\! mace ‘H"a"\ 206 because 101 is slightty more Hhen L.

¢ 1,955x0019 1% B lb‘l' l€§$ than 1,955 Lecause 0.619 is & (ot less than 1.
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d. Two thousand x 1.0001 'IQ S“%LVH\'/ mbd (e 'l'l\ah two thousand bQCMASC 1.0001 is S”ng\/
more +han 1 .

e. Two-thousandths x 0.911 .(S sliGl\‘H\! L’SS ‘I"L\ﬂlﬂ two-thousandths because .91 1'¢
slightty less han 4

3. Rachelis 1.5 times as heavy as her cousin, Kayla. Another cousin, Jonathan, weighs 1.25 times as much as

Kayla. List the cousins, from lightest to heaviest, and explain your thinking.

kayla < Jonathan < Rache !

Rache! is heavier fan Jonathan because che is 1.5 +imes heavier Han Kayla while
Jonathan ic only 1.25 +imes heavier Hhan Kayla. This wakes Koyl the lightest.

4. Circle your choice.
a. axb>a

For this statement to be true, b must be greater than 1 less than 1

Write two expressions that support your answer. Be sure to include one decimal example.

T >
3 N w77

B %
3=l 7 17,6 >

b. axb<a
For this statement to be true, b must be greater than 1

Write two expressions that support your answer. Be sure to include one decimal example.

bxz2<b 8x0.7<3

23 <6 O.6 <%

2 =
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